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Modeling and analysis of Automated Guided Vehicle System
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Abstract: This study deals with the Automated Guided Vehicle System(AGVS). The congestion occur at a
merging section frequently. The guide ways of AGVS are the finite length. Therefore, the queue length should

be reduced. We analyze the model which restricts the number of waiting vehicles. The top vehicle of the queue

is forced to detour when the number of waiting vehicles exceed a restricted value. We discuss the efficiency of

the proposed control strategy quantitatively.
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Fig. 1: Schematic diagram of the merging section.
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Fig. 2: Transition diagram of the Markov model.
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Fig. 3: Numerical examples of L and o.
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